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Question Number : 1 Question Id : 41652911046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The function f : R—R, is given by

flx)=——is:

Options:
41652943402 one-one and onto



41652943403 onto but not one-one

41652943404 one-one but not onto

416529432405 neither one-one nor onto

Question Number : 1 Question Id : 41652911046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fiR5R, f(x)=—2_ BRI 9R=iod %o
2 1+ x

Options:

41652943402, S0l a4l ST e

41652943403 FTOEH € T THH! el ¢ |
41652943404, THH| § W] ATDEH Tel 2|

41652043405, 7 O That € 7 & AT 2|

Question Number : 2 Question Id : 41652911047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ifz 1 Z2 and z, areany three distinct complex
numbers such that z;/=1, |z,/=2, |25 =4,

argz,=argz, Tand arg z; = argzy

b | =]

then Z,Z4 18 equal to :

Options:
Bi
B
41E52343408. 1
AR
41652943407, OiZ
L
41652943408,  OiZ1
Bi
2

41652943409, 4

Question Number : 2 Question Id : 41652911047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Ffe H1 7 9= wfmg F&d z), z, 990

[

3
5 9SR T & |z5)=1, |2,|=2, |z4)=4,
arg z, =argzy — wadl arg zy = argz; %r
?ﬂzzzaﬁﬂ'ﬁ?%:
Options:
Bi
.y
41652943406, 1
-
41652843407, OiZ
= 2
41652943408,  OiZ1
Bi
2

41652943409, 4

Question Number : 3 Question Id : 41652911048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If 2a is a root of ax® +bx+c¢=0, B is a root

of ax2— 2bx — c=0, and the real numbers a,

b, c (a=0), are such that < «; then a root vy

of ax?2+4bx +2¢=0 always satisfies :
Options:

. « )
41652943410, ¢ <Y <4P

41652943411, P <y <a

L <
41652043412 Y <P <@

41652943413, P<a<y

Question Number : 3 Question Id : 41652911048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afg ax2+bx+c=0 FT TF HA 2a %,
ax2 —2bx — c=0 1 UF 9 { & a9 IRAtaF
H=H a, b, ¢, (a>0) SATFRETF L <o, 7
ax? +4bx + 2c= 0 T TE A v Hal T Fdl
2

Options:

g D
41650943410, ¢ <Y <4P



41652943411, P <y <«

L <y
41652043412, Y S P <@

41652943413, P<a<y

Question Number : 4 Question Id : 41652911049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

27 _9
If B= [ I L']-] and A is a malrix such

that A-1B=B~land kA~ 1=2B-1+],
where k is some scalar and I is the 2 x 2
identity matrix, then the value of k is :

Options:
41652943414,

I~

41652943415, — 1

41652943416, 1

I~

41852943417,

Question Number : 4 Question Id : 41652911049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ﬂﬁ’B=[ f ﬂ AT ATYE A TH UFE &

fFA-1B=B~!3RKkA1=2B"1+] W@k
IS AfRA (scalar) T AW L 2x2 F THAF
(identity) #AT=T2 E AkFAAE

Options:
41652943414,

I~

41652943415, — 1

41652943416, 1

41652943417, 2

Question Number : 5 Question Id : 41652911050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If for positive real numbers a, b and c, the
system of linear equations
x=a(y+z), y=b(z+x), z=c(x +y)

has non-trivial solutions, then

s | = | : is equal to:
l1+a 1+b 1+c
Options:
3
41652943418, 2
41652943419, 3

'j‘
416525943420, &

1
41652943421, 2

Question Number : 5 Question Id : 41652911050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afe A Trala® e a, b 991 ¢ F
fau ifas gurEIn fAem x=a(y+z),
y=Db(z +x),z=c(x+y) ﬁu‘aﬂﬁ (non-trivial)

- 1 1 1
. dl | | E L R
ﬁ% l1+a 1+b 1+ %
Options: .
3
41652943418, 2
41652943419, O

5
41652843420, &

1
41652943421, 2

Question Number : 6 Question Id : 41652911051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let (1+x)"=Cy+Cyx+Cx? +.... +C 2"
u:here il B f}nd {Cﬂ FOGNG HE)
(Co—1+C)=ACL,...C,. Thentforn=>3,,
Aisequal to:

Options:



41652943422, S24/5
41652943423, 3125/24
41652943424, 128/3

41652943425, 0625/24

Question Number : 6 Question Id : 41652911051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A (1+2)"=Cy+ Cpx+Cox? + ...+ C 2™,

W@l C, =nC, T4 (Cy+ Cy)(Cy +Cy)....

(C,_1+C)=ACC,..C, T n=5 & fau
A TEE
Options:

41652043422, 324/5
41652943423 0125/ 24
41652943424, 128/3

41652943425, 625/24

Question Number : 7 Question Id : 41652911052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For B=0, if the coefficient of x® in the
binomial expansion of (1 4 Bx)® and the
coefficient of ¥? in the binomial expansion
of (1—px)® are equal, then the value of 3
is :

Options:

41652043426, 1/7

41652943427, — 2/7

41652043428, 2/7

41652043429, — 1/7

Question Number : 7 Question Id : 41652911052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



B=0 = fog, Afg (1 + px)° F 5o 7o H &3
= T 91 (1 Bx)® F TGI8 TR H 2! =
T TR E, AL FAA S

Options:

41652943426, 1/7

41652943427, — 2/7

41652943428, 2/7

41652943429, — 1/7

Question Number : 8 Question Id : 41652911053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For distinct positive numbers a, band ¢, if
aZ, b%, 2 are in A.P., then which one of the
following triplets is also in A.P.?

Options:

41652943430, b—c c—a a—b

41652943431, P—¢ a—-b c—a

1 1 1

41652943432 Pt cta a+th

1 1 1
416857943433 b 4 2{:.— C A Za' a+ 2b

Question Number : 8 Question Id : 41652911053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e g arafas EnHi o, b A ¢ F
foru, af a2, b2, 2 99 9ol § B, °f fe |
T &M | & (triplet) f THFR 491 H &7

Options:

r r

41652943430 b—¢c c—a a-b

41852943431, P—¢ a-b c-a



1 1 1

41652043432, P 1€ cta athb

1 1 1
41652943435 b 2c" c+2a” a+2b

Question Number : 9 Question Id : 41652911054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let 5" be the sum of the first n - terms of
the series

1242524324272 4524292 ¢
If 5.?{] = 20 A, then A is equal to :
Options:

41652943434, 1851

41852943435, 1951
41652043436, 2001

41652943437, 2019

Question Number : 9 Question Id : 41652911054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT A 12+ 252+ 32+ 272 + 52 +2-92 + ...
F W n W& HAMS T AES, = 20A,
A T T

Options:

41652943434, 1851

41652343435, 1951
41852943436, 2001

41652943437, 2019

Question Number : 10 Question Id : 41652911055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let m and k be positive integers (m'« k).
Then

i

lim n It 1i| H

f—3e l n/ L nl

]“Il is :

o
I4+=| + .

k | o

f
H 14
11

n,/

Options:



41652043438, 0

k(k +1)
41652943439, 2

m

'm{m F1)k
41652943440, 2

41652943441, km

Question Number : 10 Question Id : 41652911055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
O m 997 k HAHE qvn?r"% (mzk) @

lim n .r[.. T-n Frl_,_ | ... L]
Th— 1~ :x :,.-' i I1,-' J}
g:

Options:

41652943438, 0

k(k +1)
41652943439, 2

m
'm{m F1)k
41652943440, 2

41652943441, km

Question Number : 11 Question Id : 41652911056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1/ -1/

For f(x)= " Y% g

Options:

41652843442, (0) =1

41652943443, [(0)=

41650043444, | 18 not continuous at 0

41652643445, f1is not differentiable at 0



Question Number : 11 Question Id : 41652911056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

f(x) = %I Fe /
| 0 .. x=D
Options:

41652943442, J (0)=1
41652943443, [ (0)=0

41650943444 ¥=0 R [T 7 2

41650943445, ¥=0 T f STTHTE Tel Tl

Question Number : 12 Question Id : 41652911057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X
Let F(x) = _[f{t) dt , where
0
flx) =2+ sinx — cosx. If
F(x) —F(y)| = kx—y| for all x and y in R,
then a possible value of k is :
Options:

41652943446, 2+ V2

41652043447, 2= V2

. 1
41652943448, J2
41652943449, V2 —1

Question Number : 12 Question Id : 41652911057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T F(x) = [f(t) dt, 5@

0
flx) =2+ sinx — cosx. ﬂﬁ'ﬂﬁ?ﬂ‘aﬁxﬁmy
F fau [F(x) -F(y) = klx—y, Tk &1 TH
grifad 9F 2

Options:



41652943446, 2 + V2

416525943447, 2~ 2

41852943445, v

41652943449, V2 —1

Question Number : 13 Question Id : 41652911058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A real valued function
flx)=Clog,|x| 4 Dx? + x, x 20, where C and

D are constants, has critical points atx = — 1
and x=2. Then the ordered pair (C, D) is:

Options:
f 3.2 ‘*|
41652943450, ~ 9 3

¥

1r2 1)
41652943451, \ 2 9)

1 2

41652943452 \9 3)
¢ oAy
41652943453, -~ o 9/

Question Number : 13 Question Id : 41652911058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TS FREfeaF JH Fed
fix)=C log,|x|+Dx3+x, x£0, W&l C 991 D
FA T, Fx=—1 T x=2 W FHifas fag
(critical points) &, T e TH (C, D) T
Options:

o :
41652943450 \ 9

2
3)

¥

.1f 2 1)

41652943451, L3 9)J



.

L | b3
e

¢
41652943452 9

—

0 | k3
WD |
.

41652943453,

Question Number : 14 Question Id : 41652911059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

X
e

4 x \,
if f(x) = IIGEE | log. t}| dt then the value
&
3f'(3

of f'G) is :

e
Options:
41652943454, e”— 1

41652943455, o 1083

41650943456, O 108

3
41652943457, © €

Question Number : 14 Question Id : 41652911059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HI

zfe f(x) :J‘IDBE{ x ) 5 ﬁT-gJ,rl(B} s

LY Iﬂgt‘. t) 5 e
e
HH % -
Options:
41652943454, e>— 1

41652943455, — 2 10g3

41652943456, © 1083

q
41652943457 © €

Question Number : 15 Question Id : 41652911060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



™

3x
The valueof the integral J.M dy 1s:

sim| .
L ['2
Options:
= -2
41652943458, 2
ar
2
41652943459
g
41652943460, 2
= ii]
41652943461, 2

Question Number : 15 Question Id : 41652911060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ax
Sin
A __J___ldx'iﬂIWT%:
':i]'.I'l J'
Options:
= -2
41652943458, 2
ar
2
41652943459,
g
41652943460, 2
= —f
41652943461, 2

Question Number : 16 Question Id : 41652911061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The area (in sq. units) of the region bounded

by the curve I Jy=1,xy=0 and

1 13
the tangent to it at the point | I I,J is

Options:



41652943462, 36

41652043463, 12

1
41652943464, O

41652943465, 24

Question Number : 16 Question Id : 41652911061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

F x +fy =1, %,y = 0 991 39F fag

fd. ) s el 3
i L /'

(aﬁ ;;-Ef :;;EH -EU' % .

Options:

1
41652043462, 36

o

41652943463, 12

1
41652943464, 8

1
41652943465, 24

Question Number : 17 Question Id : 41652911062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The solution of the differential equation

i sin 21

&y T 1‘3cnszyr is:

dx x

(where C is a constant of integration)

Options:
&
. X i
x“tany = — +C
41652943466, 6



4

) - s
xtany= — +C

¥ =4

41652943467 :
B
5 X ~
x‘cnsZy = — +
41652943465, 6
5]
% ., X
x‘z—unZy = — 4+
41 eE2a4d42489, B

Question Number : 17 Question Id : 41652911062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

n Ely’ Si_'(‘lzy 3 2
AT HHEIN —— + ——= = x"cos Y =
dx X
Eﬁ%
(FafF C U gHFel F=1 2)
Options:
&
2 X
x“tany = — +C
41652943466, 6
4
. X
x“tany = — +C
41652943467, 4
6
/. X -
x‘cnsZy = — +C
41652943468, b
6
o R X
x“sin2y = — +C
41652943469, 6

Question Number : 18 Question Id : 41652911063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let Py, PP, be any two points on a circle of
radius r centred at the origin O, such that

£ZP0OP, =% If P is the point of

intersection of the tangents to the circle at
P'1 and Pz, then the locus of the point P, is :
Options:

2 o W [ 4
41652943470, A" +y7)=4r

o N a2
41652943471, HA~Ty)=3r



124yt =4rt
41652943472, o

J '3 v
2 — A2
41652343473, s

Question Number : 18 Question Id : 41652911063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A P, T P, T g forgant 52 r 941 7

gufag O 8, 7 frgm <t fag &€ aw
/P,OP, = % ¥ afs P 9 % fagsii P, @

P, T i T Tt Tansdi # wfaese fAg T,
@ P 1 fag99 (locus) 7.

Options:

41652943470, J(X°+17) =4r*

4(x2 + %) =3r2

4165294347 1.

2yt =4r2
41652943472, o

o ) )

L L q 3

41652943473, ¥ Y=L

Question Number : 19 Question Id : 41652911064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[f any tangent to the parabola :rz=-—1y
intersects the hyperbola xy=2 at two
points P and Q, then the mid-point of line
segment PQ lies on a parabola with axis
along :

Options:

41650943474 Y-axis and focus on positive x-axis

4165054547, X-axis and focus on negative x-axis

41652943476, Y-axis and focus on negative y-axis

41650943477 V-axis and focus on positive y-axis

Question Number : 19 Question Id : 41652911064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Ffe T 12 =4y 1 HIs T99 W@ Afdat=ged
xy=2 H 3 fagsli P 9N Q W Fredt B, A
Y@ErgUE PQ F1 HeAfag Ua Waed W iy §
Toget @14 -

Options:

x-318] F Ifew & qun fom=t nfy
41652943474, T x-AH WL

x-318] F Ifew & aun fomat ity
41652543475, TN x-A4 T E|

y-FH F oEfew € aw faawt iy
41652943476, TONHF Y-8 T E|
y-A F Ifew € qu fawst iy

41652943477 e y-SAE W Z

Question Number : 20 Question Id : 41652911065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I[f m and n are the lengths of the
perpendicular from the origin to the
straight lines whose equations are
xcoth —y=2cosh and

.ib: 3y = J5cos20, (6 € (0,7)),
respectively, then the value of m>+5n? is :
Options:

41652943478 O

(=

416525943473,

1]

41552343450,

]

416525343481,

Question Number : 20 Question Id : 41652911065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
i m 991 n FHI: T@E foas o
xcoth —y=2cost T

4x + 3y = —5 0820, (0 € (0,7)) W TEATHT
| @i T wiEad el F1 wasdl g,
m?2 +5n2 1 HA 2 :



Options:

41652943478, O
41652943479, 1

41652943480, D

1

416525343451,

Question Number : 21 Question Id : 41652911066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If an ellipse has its foci at (2, 0) and ( — 2, 0)
and its length of the latus rectumis 6, then
the equation of the ellipse is :

Options:
S
.
41652943452, 16 12
.12 12
2y
41652043453, 2 64
L.
L

41652943454, 06 18

416529434385, 64

Question Number : 21 Question Id : 41652911066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
I Uk ST 1 AT (2, 0) T91(—2,0) T
& T ST M= FT G 6 B, o ZrHgd

THE T
Options:
2 >
.Y 4
41652943482, 16 12
2 2
LIRS
41650943453, 24 64
2 2
LA

41652943454, 06 18



2 2

X y g

416529434385, 64 24

Question Number : 22 Question Id : 41652911067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let C be the circle whose diameter is the
line segment formed by the line 3x +2y==6
intercepted by the coordinate axes. Then
C also passes through the point :

Options:

41652943458, (1. 1)

41852943487, 3.2)

416520434588, (2, 3)

41652043459, (2, 2)

Question Number : 22 Question Id : 41652911067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A C 9% 949 ¢ foraem =0 w 3x + 2y =6
=1 Frevia @18l & =1 3. EvE, € @ C fag
ﬁgﬁrﬁmm% CEl &

Options:

41652943436, (1, 1)

416525943487, (3.2)

41652343485, (2,3)

416529434589, (2, 2)

Question Number : 23 Question Id : 41652911068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The distance of the point (1, 2, 3) from the
plane x + y +z =2 measured parallel to the
x+1 ¥ T — 3

line = = is :
1 2 1

Options:



V21
41652943490,

41652943491, V22

a2
418529434592, 23

paas
41652943493, V24

Question Number : 23 Question Id : 41652911068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
&g (1,2,3) & 9Aa x+y+2z=2 § F8 g

x+1 y z—3

= T =i fawm 4 ATt
T T
Options:

N

41652943490, ¥

416525943491, \"{_
\.'{_

416525943452,

SOy
41652943493, V24

Question Number : 24 Question Id : 41652911069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The value of o for which the shortest
distance between the lines represented by
y+z=0z+x=0andx+y=0, x+y+z=a
151,15
Options:

3

|
41652043494, 19
"
il
41652943495, 13
[2

=
41652943496, 3



3

| ey
|
41652943457, V2

Question Number : 24 Question Id : 41652911069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o 1 TE A e ft y +2=0,z +x =031
x+y=0 x+y+z=a 5 Wefera masti &
AT H T 1E, T
Options:

3

s
416852943494,

|5

41652943495, \{3
3

41652943496, 3
[3

|
|
41652943457, V2

Question Number : 25 Question Id : 41652911070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
—_ A s S F

ey —_— / W
Lleta=2i+j—-2kandb=1i +j.If

_}

C be a vector such that

e - —» —¥

a-c =|cllc al = 242 and the angle
e -

between a x b and ¢ is 30° then the

- —}') —| .
valueof \g x b) x c|is:

Options:

M| =

4165259434595,

M|

4165259434545,

41652943500, 3



41652943501, 6

Question Number : 25 Question Id : 41652911070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

— M A,

AMla =2i+ j—2kqM b =i + j T

afz o ux wm ufgwm §

qgT ¢ *F A= H1 FIU 30° B, Al

(—} - e
axblxc FTHA T :

Options:

M| =

4165259434398,

MW

41652943499,
41652943500, 3

41652943501, 6

Question Number : 26 Question Id : 41652911071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A and B try to hit a target. The probability

that A hits the target is ?’{[] and the

probability that B hits the target is ‘1;1[] If

these two events are independent, the
probability that B hits the target, given that
the target is hit, is:

Options:
17

41652943502, 41

18
41652943503, 41

19
41652943504, 41



20
41652943505, 41

Question Number : 26 Question Id : 41652911071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A 91 B Us @2 ] Yo FIHAE FA B A

F T F Yed FT WA %[] TAMB F
Eﬂ%ﬂfﬁfﬁaﬁ*i%ﬁﬂﬁﬁ$?ﬂ‘%{u | Ffe g oM
H2AM0 =aF ¢ d1 OaEdl, T B @5y 92 5L
et fod & foh o2 1 ST g, B

Options:
17

41652943502, 41

18
416520943503, 41

19
41652943504, 41

41652043505, 41

Question Number : 27 Question Id : 41652911072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let Xps Xopeunns o be 20 observations and
d]. =2{x]. 5),1i=1,2..., 20. If the mean and
variance of dl, dzr-----dz{] are 20 and 12
respectively, then the mean and variance
of xy, x5,....,.x5 are respectively,

Options:

41652943506, 10 and 4

41652943507, 15 and 3

41652943508, 10 and 3

41650943509, 1 and 4

Question Number : 27 Question Id : 41652911072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A X, Xopevrry Ty 20 THNE T A, =2(x; - 5),
i=12..,20 B AR d, dy....d,, F A=A
T WEIOT A 20 AT 12 B, T 1y, Xy Xy
F FHHI: A TG T F

Options:

41652943506, 10 9491 4

41652843507, 12 G413

41652343508, 10 T413

41852943509, s e

Question Number : 28 Question Id : 41652911073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If cos(a + B) = %and sinfa — B) = T

“‘.

f
aT
where 'Dif[-’-'51 0, — |, then the value of

4/
tan 2a is :
Options:
56

416525943510, 33

54

41552343511, 33

55

416525943512, 33

58

418529435135, 33

Question Number : 28 Question Id : 41652911073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

It cos(a + B) =§ qq sin(a — B) = %

Ty -
% wEf® n,[ﬂe[ﬂ, I]’ ql tan 2o T HH

Options:



56

416525943510, 33

54

416525843511, 33

55

41652843512, 33

58

41552343513, 33

Question Number : 29 Question Id : 41652911074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two parallel chords are drawn on the same
side of the centre of a circle of radius 20. It
is found that they subtend 60° and 120°
angles at the centre of the circle. Then the
perpendicular distance between the chords

1S :
Options:
10(v2 - 1)
41E5294=2514,
41852543515, 5{”5 1)
41852943516, 10(v3 - 1)
5(+/3 + 1)
41852543517,

Question Number : 29 Question Id : 41652911074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

52 20 9161 U 91 & 6E & U ol AR a
TG S WiE e E | A% 9 T fE g
e g % g W 60° T91120° 3 HI0T Sdfd
FAA €| o SErE F =" H edad gl ¢
Options:

10(+2 - 1)

416525943514,



41652343515, 5{ﬁ 1)

415525943516, 10(v3 = 1)
5{\'% F 1)

41652343517,

Question Number : 30 Question Id : 41652911075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The compound statement

.{“- CAAAB)V(~CA~AADB)v(CADB)
is equivalent to :

Options:

41652943518, A

41652943519, ~A

41652943520, B

41652943521, ©

Question Number : 30 Question Id : 41652911075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=1 a7 a9

{ CAAAB)Vv(~CA~AAB)v(CADB)
=1 | fors g9 272

Options:

41652943518,

41652943519, ~A

41652943520, B

41652943521, ©

Aptitude Test

Section Id : 416529191
Section Number : 2
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 8

Number of Questionsto be attempted: 8

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 416529245
Question Shuffling Allowed : Yes

Question Id : 41652911076 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)

Question Label : Comprehension
Directions : The problem figure shows the top view of an object. Identify the correct elevation from
amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 31 Question Id : 41652911077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

Options:

416525943522

416525943523, él

416523943524

|
L |

416525943525,

Question Number : 32 Question Id : 41652911078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

|

Options:

1
41652943526,

_|
41652943527, |

_|
41652943528, l—

_|
41652943529,

Question Number : 33 Question Id : 41652911079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

416523843520,




416525943531,

41552343532,

418529435535,

Question Number : 34 Question Id : 41652911080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
\.\,_...-'"r.\ .
416852943534,
—_—

41552943535,

Fa \\ J_.rrﬁl"x .__.l
415529435356,

/\R‘\._.:'r L
41552943537,

Question Number : 35 Question Id : 41652911081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



e

.'I' k!

Options:

41552343538

416525943539

B
o
B

416525943540

416852943541,

Question Id : 41652911076 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

99T : uwa srpfa # foredt oo o1 ot gva femaman e ) o i feun ® S gu S ensfaal § 9 s
TE 9O v UEEi |
Sub questions

Question Number : 31 Question Id : 41652911077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

Options:

416525943522,



415523943523,

416525943524,

L

41652843525,

Question Number : 32 Question Id : 41652911078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

|

Options:

.
41652943526,

_|
41552943527, |

_|
41652943528, I—

_|
41652943529,

Question Number : 33 Question Id : 41652911079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

416525343530,

416525943521,

416525943532,

416525943533,

Question Number : 34 Question Id : 41652911080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

416525943534,

416525943535,



415525943536,

41652843537,

Question Number : 35 Question Id : 41652911081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T

.'I' ",

Options:

41652943538, |
41652343539,
41652343540,
41652943541,

Sub-Section Number: 2
Sub-Section 1d: 416529246
Question Shuffling Allowed : Yes

Question Id : 41652911082 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (36 to 40)
Cuesticon Label | Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions



Question Number : 36 Question Id : 41652911083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

—
41552943542
41652943543,

i
41652943544,

-
416852943545,

Question Number : 37 Question Id : 41652911084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652943546,

415525343547,




416525943548,

41552343549,

Question Number : 38 Question Id : 41652911085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s

Options:

416525943550,

41652943551
-

416525943552,

I

416525943553,

Question Number : 39 Question Id : 41652911086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



416525943554,

415525943555,

416525943556,

416525843557,

Question Number : 40 Question Id : 41652911087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e
o~ - Y
. -
e L
o -

Options:

T

416525943558,

416525943559,

416525343560,

10 1 A

415523943561,

Question Id : 41652911082 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (36 to 40)
Cuestion Label © Comprehension



89T : 3 - D U sfa d U avq & U gvd & fomrn ¥ i & foen ¥ gwd 3n, 9 9w g
1 ST ATHITE H F Te=d |

Sub questions

Question Number : 36 Question Id : 41652911083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

F -

JN- J
AL
.
=

ke
i
.-". .-'f
T e
o~
-

Options:

416525943542,

418529435435,

415525943544,

416525943545,

Question Number : 37 Question Id : 41652911084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o e

r T
- - A
-~ -~
[ 1
- S,
o -
- i o~
e, e -~
i N
e o

Options:

416525943546,




]
416525943547,
416525943548,

]
415523943549,

Question Number : 38 Question Id : 41652911085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41552343550,

41652943551
-

416525943552,

Ik

416525943553,

Question Number : 39 Question Id : 41652911086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

41852943554,

416525943555,

416525943556,

416525943557,

Question Number : 40 Question Id : 41652911087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i ¥
~ - =
- -
o A
o -

& 7
-, _h\.l-}.__,_,_... l:::
Options:
[
]
41652943558 —— L
41652943559

416525943560,



—
41652943561, L | |

Sub-Section Number : 3
Sub-Section Id: 416529247
Question Shuffling Allowed : Yes

Question Id : 41652911088 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (41 to 45)
Cesticn Label | Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 41 Question Id : 41652911089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ey

-

Options:

416523943562 L—

416528943563, ————

41552343564,

416525943565,

Question Number : 42 Question Id : 41652911090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

41652943566,

[ 1]
41652943567 |
41652943568, 1|
41652943569,

Question Number : 43 Question Id : 41652911091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41652343570,

416525943571,

SRy

4155234357 %2.



416525943573, 3'

Question Number : 44 Question Id : 41652911092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl J
r]f bor
i

e
b

Options: B

-
41652343574,

n
41652943575, u
41652943576, \:J
41652943577, 'ji_l

Question Number : 45 Question Id : 41652911093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

416525943575,



416525943579, }l_‘
= |

416525943580,

416525943581,

Question Id : 41652911088 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (41 to 45)
Juestion Label - Comprehension

9T : 3 - D WA ATpfa | U 9% & U g¥9 I fo@E T 81 o) w1 foun # < gy, 59k 9RE g
1 I AFHTA | H Te=d |

Sub questions

Question Number : 41 Question Id : 41652911089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

" oA

>

Options:

416525943562, s

=8

41852943565 ————

416523943564,

416525943565,

Question Number : 42 Question Id : 41652911090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

e __.-""\-\._
e N
.-"T"\- -~ .
._H];.,.. ’]
‘.""-\__ __.--""-l e
PR
et

Options:
41652943566,

1]
41652943567, |
41652943568, 1|
41652943569,

Question Number : 43 Question Id : 41652911091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41852943570,

41552343571,

7

41652843572,



416525943573, 3'

Question Number : 44 Question Id : 41652911092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl J
r]f bor
i

e
b

Options: B

-
41652343574,

n
41652943575, u
41652943576, \:J
41652943577, 'ji_l

Question Number : 45 Question Id : 41652911093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

416525943575,



41EE2943579
H I
41EE294 2550,
41EE294255] .
Sub-Section Number: 4
Sub-Section Id: 416529248
Question Shuffling Allowed : Yes

Question Id : 41652911094 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct top view from amongst
the answer figures.

Sub questions

Question Number : 46 Question Id : 41652911095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

416525943582,

41552343583,

416525343584,




416525943585,

Question Number : 47 Question Id : 41652911096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o e

Options:

416525943586,

41852943587,

416525943588,

416525943589,

Question Number : 48 Question Id : 41652911097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-, - - -
- - -

e -
e, -
|

Options:

416525343530,

41852943591,




416525943592,

4185294355935,

Question Number : 49 Question Id : 41652911098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

-
41652943594,
416852943595,

.
41652943596,
416852943597,

Question Number : 50 Question Id : 41652911099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41552343538,




41652943599, L

41652943600, |

41852943601,

Question Id : 41652911094 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)

uestion Latbeal Comprehension

9T : 3- D 9wA aaFfa # U T & UF g99 FI @ T ¥ | SHE el S gV, ST A aal § 9
TEEI |

Sub questions

Question Number : 46 Question Id : 41652911095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

416525943582,

416525943583,

416525943584,

416525943585,

Question Number : 47 Question Id : 41652911096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

Options:
41652943586,
|
41852943587,
41652943588,
I
41652943589,

Question Number : 48 Question Id : 41652911097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e - o -
- - -

S
et ~
“a -

- ¥

Options:

41552343530,

416525943591,

416525943592,




416525943553,

Question Number : 49 Question Id : 41652911098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

I
416529343594,
41652943595,

.
41652943596,
41652943597,

Question Number : 50 Question Id : 41652911099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

4165253435598,

41652943599, L



41652943600, L |

416525943601,

Sub-Section Number:

5
Sub-Section | d: 416529249
Question Shuffling Allowed : Yes

Question Id : 41652911100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)

Juestion Label - Comprehension

Directions : Which one of the answer figure is the correct mirror image of the problem figure with
respect to X- X 7

Sub questions

Question Number : 51 Question Id : 41652911101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(X)
(X)
Options:

_‘_‘.1_ ek
II'; I'. I
41652945602, s
': ..r" ':..- .-II
L B
oS T

41652943603, A

41652043604, © N

41652943605, N



Question Number : 52 Question Id : 41652911102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)
Options:
41652943606,
41652943607,
41652943608, W/

.'ﬁf:x A

41652943609

Question Number : 53 Question Id : 41652911103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
=
o L
(X)
Options:
41652943610,

416525943611,



4155234361 %.

416525943613,

Question Number : 54 Question Id : 41652911104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

416525943614,

416525943615,

416852943616, ==,

41652943617, < o

Question Number : 55 Question Id : 41652911105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:

41552343615,

\:&r iy
41652943619, A

41652943620, ATk

416852943621, o

Question Id : 41652911100 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Cuesticon Label | Comprehension

99T : S Arpfaal ® | FiET SAHia < T WY AR X - X F Fretid Tal guun widtee €2

Sub questions

Question Number : 51 Question Id : 41652911101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Options:



41652943602, 4
'I: -__,.-" _:ll-- .-|I
ey |
| \\ B - |

41652943603,

1
ol
% |
-"'.;--.J

41652943604, 7 b

41652943605, &

Question Number : 52 Question Id : 41652911102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
|r-'-_ r-_g‘fll A
| .'-I____j'nl:".-r I.f_::'!

o

(X)
Options:
41652943606,

W27 /A

41652943607, I
41652943608,
41652943609 N/

Question Number : 53 Question Id : 41652911103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(X)
Options:
41652943610, E
41652943611, E
41652943612, E
41652943613, 'ﬁ

Question Number : 54 Question Id : 41652911104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

(X)
Options:
41652943614,

416525943615,



416525943616,

41652943617, < =

Question Number : 55 Question Id : 41652911105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Options:
T F
P oy
.r'f: ' ?r:h:\'-.
Wi o
WV vl
N f [
oy S
41652943618, b4 :rf»/

41652043619, =

41652043620, Ak

A AA
ll::( 2 __.I" : IIII :T-.'l
L
41E5294262] . i
Sub-Section Number: 6
Sub-Section Id: 416529250

Question Shuffling Allowed : Yes



Question Id : 41652911106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Juestion Label - Comprehension

Directions : Find the odd figure out of the answer figures given
below :

Sub questions

Question Number : 56 Question Id : 41652911107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652943622,
41652943623, ;
41652943624, S

41652943625.\\\

Question Number : 57 Question Id : 41652911108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41852943626,

418529436827,




% f
416525943625, —

41652943629,

Question Number : 58 Question Id : 41652911109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

z'/f k H\-\.
RN
. y

416525943630, S

i B -?“\.
_,.-'f e \__..
II Il
LY 7
41652945621, o
% TEEL
P \
f 'y |
i -. j"l:
41652843632,
I
A
| A / i
| /r"
5 -
%, Iy

4168529436535, T

Question Number : 59 Question Id : 41652911110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652943634, £



41652943635, ~ :

41652943636, °

Ao
o
-

"

41652043637, <>

Question Number : 60 Question Id : 41652911111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652943638, L

._I'. !

4 M,
; N
; A

41652943639, ——

416525943640,

41652943641, |

Question Id : 41652911106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Cuesticon Label | Comprehiension

TE9T : = <t T SR sRiaal ° 9 faum st gemt |

Sub questions

Question Number : 56 Question Id : 41652911107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



41852943622,

415523943623,

41652943624, S/

41652943625.\\\

Question Number : 57 Question Id : 41652911108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
41652943626, ©
41652943627,
".l/--.-. h \'\'\.
f 1
N Y,
41652943628,

41652043629, N

Question Number : 58 Question Id : 41652911109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:

p Y o
41552942630, S
2 B >
| |
Sz ol
41552943631 —
~ \ e ",
I / x‘..
| 5, \
| |

41652943632, T

416525943633, e

Question Number : 59 Question Id : 41652911110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652043634, £

41652943635, © \

41652943636, °

R
.

L~ o
41652943637, —

o

Question Number : 60 Question Id : 41652911111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



41652943638, L

._I'. !

£ M,
; N,
; A

41652943639, ——

416525943640,

41652943641, |

Sub-Section Number: 7
Sub-Section 1d: 416529251
Question Shuffling Allowed : Yes

Question Id : 41652911112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61 to 65)
Cuesticon Label | Comprehiension

Directions : One of the following answer figure is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 61 Question Id : 41652911113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41652943640, >
41652943643.<€i}



415523943644, :
416525943645, D

Question Number : 62 Question Id : 41652911114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
41652943646.[:}
4165294364?_K::B
41652943648, Ki
41652943649, E:i:;7

Question Number : 63 Question Id : 41652911115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

S

~——11|
EE

Options:

416525343650

416525943651

Nl
41652943652.[:£]
[T

416525943653



Question Number : 64 Question Id : 41652911116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41552343654, ﬁ

41652943655,

416525943656, Iﬂ

41652943657 ‘557

Question Number : 65 Question Id : 41652911117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
]

Options:

41552343658, :
416525943659, g

41552343660

416525943661, Q

Question Id : 41652911112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61 to 65)
Cesticn Label | Comprehiension

fdor : e <t T SR efaEl B 9 U seRfa 919 iR fown § 9ue w9 9 v aefa § g ¥ e |
et 7, I

Sub questions



Question Number : 61 Question Id : 41652911113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

41652943642,

4155259436453,

™
<)
>

415525943645,

Question Number : 62 Question Id : 41652911114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

41652943646, Q
41652943647, Q
41652943645, é
41652943649, d

Question Number : 63 Question Id : 41652911115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

S

[ ] L




Options:

4165294365@.Eﬂ]
41652943651 . [{]
41652943652.[:£]
41652943653.[23

Question Number : 64 Question Id : 41652911116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

415525943654, E

41652943655,

415523943656, E

4165294365?_‘417

Question Number : 65 Question Id : 41652911117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
]

Options:

416525943655, :
416525943659, 5



416525343660, &
41552943661, Q

Sub-Section Number: 8
Sub-Section 1d: 416529252
Question Shuffling Allowed : Yes

Question Id : 41652911118 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (66 to 80)
Cuesticon Label | Comprehension

Sub questions

Question Number : 66 Question Id : 41652911119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is a primary
color ?

Options:

41652943652, L urple

41652043653, Orange

41652943664, Red

41652043665, Green

Question Number : 67 Question Id : 41652911120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the Northern Hemisphere the winter sun
rises from which direction amongst the
following ?

Options:

41652943666 INorth East
41652043667, INorth West
41652943665, South East

41652943669, South West



Question Number : 68 Question Id : 41652911121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A byte is which one of the following ?

Options:
41652943670, A group of stars

41652943671 A unit of digital memory

An act of an acrobat
41552943672,

41652943673 A unit of sound

Question Number : 69 Question Id : 41652911122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

What does the abbreviation [ISRO stand {or
amongst the following ?

Options:
41652943674, Indian Studies and Result Office

41652943675, International Sea and Rain Office

4165094367, ndian Space Research Organization

International Settlements and Relief
41652943677, Organization

Question Number : 70 Question Id : 41652911123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
What does the abbreviation NASA stand
for amongst the following ?

Options:
Mational Architecture and Science
41652943678, Association

National Archeology Studies
41652943679, Academy

National Aeronautics and Space
41652942620 Administration

4185294361 National Artand Science Association



Question Number : 71 Question Id : 41652911124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following is a horizontal
element that supports the loads above
openings in walls in a building ?

Options:

41652043632, intel

41652943653, Column
41652943684, Foundation

41652943655, Lillar

Question Number : 72 Question Id : 41652911125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which color amongst the following
represents danger ?

Options:
41652943686, black

41652043657, Green
416529436585, Red

416529436589, White

Question Number : 73 Question Id : 41652911126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which Indian city is abutting the Arabian
Sea ?
Options:
41652943690 Kolkala

41652943691, Mumbai

41652943692 Chennai

41652943693, Surat

Question Number : 74 Question Id : 41652911127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



In which of the following Indian city are
the ‘Shaking Minarets’ located ?

Options:

41652043694, Hyderabad

41652943695, Lucknow

41652943696, Ahmedabad

41652943697, Delhi

Question Number : 75 Question Id : 41652911128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In which of the following Indian city is the
‘Bara Immambara’ located ?

Options:

4165294359z Hyderabad

41652943699, Lucknow

41652943700, Ahmedabad

41652943701, Delhi

Question Number : 76 Question Id : 41652911129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Cavity walls are which one of the
following ?

Options:

41652943707 Walls with holes

AT it ol
41652943703, Walls with air gap

41652943704 Walls with windows

AT .
41652943705, Walls with doors

Question Number : 77 Question Id : 41652911130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Green buildings are associated with which
of the following :

Options:



41652843706, Landscape

41652943707, beauty

41655043708, Environmental suitability

41652943709, Location

Question Number : 78 Question Id : 41652911131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frame structure in high rise building
pertains to which one of the following ?
Options:

41652943710, Structure with squares on the facade

41652043711, Columns and Beams structure

41652943712, Load bearing wall structure

41652943713, square building

Question Number : 79 Question Id : 41652911132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Chajjas above windows are meant to
protect the building from which of the
following ?

Options:

41652043714, Wind

41652943715, birds

41652943716, Oun

41652043717, Lyphoon

Question Number : 80 Question Id : 41652911133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is not a planned
city ?

Options:

41650943715 Gandhinagar



41652943719, Chandigarh

41852943720, Bhubaneshwar

41650945721, lanpur

Question Id : 41652911118 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (66 to 80)
Cuesticon Label | Comprehension

Sub questions

Question Number : 66 Question Id : 41652911119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FreAfafad § T FH =1 71 mufas g7
Options:

41652943662, ERG

L

41652943663, U1
41652943664, T

41652943665, 4

Question Number : 67 Question Id : 41652911120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Il s | Al #1 94 Fefataa fam
o feon & I 27

Options:
41652343666, kSl

41552343667,

416525943668, bt

41652943669, oI qf¥=H

Question Number : 68 Question Id : 41652911121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U 952 F=fafEd § @ :F A g ?

Options:



416525943670, ek

41650043671, (S92 HAR I TH 3H
41652943672, U Ughla2 &1 UF AfufTay

41652043673, 1 11 OF SHIE

Question Number : 69 Question Id : 41652911122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fr=feraa 5 9 foa & fau 9499 9 [SRO @2
27

Options:
41652043674, O™ ST AR TRUMH FE<H

41652943675, ATILE HIT T 99l FEeE

41650943676, A SATRE SFTHHM TS

41652943677, ST T SR T e

Question Number : 70 Question Id : 41652911123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
frreferfaa § & NASA =1 dfers =9 =1 2 ?
Options:

416523943678

41652943679, e JOe =4 TR

41652943680, 19 TAAIE Ug T UsfafzyH

41652043651 T9HA S U HEH THIMHUIA

Question Number : 71 Question Id : 41652911124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

frefafay § & %1 91 4fqs 7 @ 91 sARa
ARl § e arel T T TER 3q1 87
Options:

41652943652 HIsd



416529436583, TIeH

416529436584, TISST

41652943685, WY

Question Number : 72 Question Id : 41652911125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Frfafaa | | #F @ T1 Tl 1 giaEee
FIAE?

Options:

41652943686, 11N

41652943687, o

41652943638, T

41652943689, T

Question Number : 73 Question Id : 41652911126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[ 1 YA Vet S AP H el ge &
Options:

418529436390, AICTeRTdT

41652043691, 379
41652943692, A%

41652943693, 10

Question Number : 74 Question Id : 41652911127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

DN S n Wﬁ‘-\.—ﬂr " \-\ ki
fome?

Options:

4165259436594, e

41652943695, 1S



41652943696, eTAS

416523436597,

Question Number : 75 Question Id : 41652911128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TrAfafEa e vt | J fvad == samar’
frem 272

Options:

4165253436398, S5

41652943699, (T

41652843700, TeTaAS

41652943701, 1900

Question Number : 76 Question Id : 41652911129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 St foreAfefiad § A H T E?
Options:

41652943702, 98 % HY FER

41652943703, ol & AL S HY <N

41652943704, @S & WY AR

41652943705, S

Question Number : 77 Question Id : 41652911130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A Tafeen f=fafad 9 4 fFaF @9 250
32

Options:

415523437086, SELC O

41652943707, Hied



41652943708, T ST

41552343709,

Question Number : 78 Question Id : 41652911131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3= gfg TARA ¥ U HH Hi=9A FAfaiad |
% e U | "atma 872

Options:

41652943710, SENHFT T & W WL

416520943711 HicTH ST =9 H=A

41852943712, . :

418529437135, b

Question Number : 79 Question Id : 41652911132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

faefFal & I o= frafafas ¥ 9 g
THRA i 1 % & fou g 2

Options:

41852943714, 991

[

416525943715, Rl

41852943716, RS

41652943717, ATl

Question Number : 80 Question Id : 41652911133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Frefafad § 9 4 91 99Es T Tl 27
Options:

41652943718, THEMT

41652943719, ST



e

416525343720, 1

416525843721, 3

Dirawing
Section Id : 416529192
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions; 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529253
Question Shuffling Allowed : No

Question Number : 81 Question Id : 41652911134 Question Type: SUBJECTIVE Display Question Number : Yes

Correct Marks: 20

(a) In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using,
only curved lines. The shapes created
by these curved lines can be of any
size, and may be placed separate,
overlapping or within each other.
The idea is to produce an aesthetic
and visually exciting composition of
these shapes in the frame without
making it representany realistic form
like house face etc. The composition
should be filled with some colors of
vour choice so that the visual quality
of the composition is enhanced.

20 Marks

Question Number : 81 Question Id : 41652911134 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(a) 3H UV F 39 9 H fou T =E H
H H Hae JHEE TeAl 1 STAR Fd
B UF Higd T 99| 39 JHEER
el § 79 AR TR off SR & 2
T €, N SAAT-Few, sAfaeardt a1
UF-TE F R B THA S | 5 = F
faar 1 | 3 A #1 v died
#AR 2fte T M= 9 1 S FE
<, T Tl amafas aundarel &9 %1
gfafafies &3, 919 = =1 =20 5oret |
ST I AT THE &+ F9 TH A 94
s &1 T | 20 Marks

Question Number : 82 Question Id : 41652911135 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
(b) Draw the graphic image shown

below to double its size in the space

provided for the answer of this

question. Each component line

should be drawn double its length

and correctly positioned direction

wise as shown in the question figure.

20 Marks

Question Number : 82 Question Id : 41652911135 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



(b) ==t TS B9 F1, 39 W9 o I & fan
fau U TE |, $HF T AR F
T3 | ST H B9 T T AR H ATER
w4 fown wea § <1 = Bfa ¥ g uE
Tl e W Ei=l S =i |

Sub-Section Number: 2
Sub-Section 1d: 416529254
Question Shuffling Allowed : No

Question Number : 83 Question Id : 41652911136 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
(c)  Design an appropriate pattern for a

curtain for a small girl’s room. Draw

and color it 30 Marks

OR
Draw a picture of your favorite film
star’s face as realistic as possible.
OR
Draw from imagination a picture of

some people sitting around a
bonfire.

Question Number : 83 Question Id : 41652911136 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30



(©)

UF D12l SIS & 92 F o0 TH I8 &
fere wF Sz e fesed w11 @
g 3T T F | 30 Marks
T
JYEYE g ame] 3799 gH9aral fhed
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T
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Fl TR THed 9 @i |



